sk T, Fili (

5EbsRR) . BMEHBIAN O —1 (5 4ERTO )

5 e ” K 0~4%% | 5~95% [10~14%%]|15~197%|20~24%% | 25~295% | 30 ~347% | 35~39%%
Y =g
SRR D 751,641 29,072 33,350 35,264 35,988 32,855 31,504 37,978 44,205
B T 598,331 21,223 22,204 29,693 29,083 19,394 15,990 18,792 27,231
BEIHY (EN) 153,310 7,849 11,146 5,571 6,905 13,461 15,514 19,186 16,974
B T ETA P~ 104, 551 5, 956 8, 667 4, 402 3,277 4,413 8,646 12,905 12,327
H K N~ 66,825 3,949 5,952 3,573 2,410 2,466 4,592 7,288 17,522
BN~ 37,726 2,007 2,715 829 867 1,947 4,054 5,617 4, 805
IR Pt T T A~ 13, 801 687 816 298 573 1,444 2,221 2,264 1,635
fl B~ 34, 958 1, 206 1, 663 871 3,065 7,604 4,647 4,017 3,012
e i 1E 624 27 32 8 41 118 70 66 69
H # =8 189 10 11 12 7 19 18 21 22
Fe) F I 104 8 8 - 4 9 10 10 7
= 1 J128 362 8 25 14 28 59 35 34 39
FK FH 123 87 4 5 2 8 11 7 8 5
] Z =8 87 4 7 4 7 22 3 9 6
& = I=8 164 5 10 6 9 23 15 22 10
/9 51 J128 409 16 28 9 26 71 49 63 44
i K JI=N 394 20 17 6 10 43 69 66 36
B 5 JI=A 265 12 11 10 18 46 33 28 25
pe * JI=N 1,737 61 93 69 101 294 219 201 191
T 1E =8 1, 500 66 76 43 127 320 170 199 109
R i #h 5,512 115 175 105 483 1,706 813 628 364
&I R 3, 547 103 135 72 296 838 560 413 283
H %5 I8 197 8 12 5 21 25 25 19 21
=1 ] 128 165 3 6 1 16 33 23 14 16
b JI 1=A 404 8 25 11 63 99 35 31 29
& H: =8 138 5 5 3 10 31 20 14 14
(L A4 I=8 357 10 13 5 61 95 34 41 23
L& i JI=A 553 17 35 13 41 98 64 49 54
53 B 1=8 951 42 55 32 80 137 123 122 104
= i I 9,160 318 414 187 876 2,042 1, 435 1,093 777
= & JI=A 748 36 36 18 47 100 89 91 93
% = =N 402 11 16 5 55 100 52 40 30
o S FF 902 17 32 8 185 370 62 62 59
x P ¥ 1,434 45 7 33 135 297 161 148 131
= Ji =8 795 44 33 23 57 139 99 96 57
%= B JI=8 259 10 18 5 35 49 16 29 23
oW L R 112 10 12 5 2 13 13 15 9
= B 1=8 100 6 7 - 7 19 11 8 8
= Uik |8 85 4 1 5 7 19 13 8 7
[i] i 15 226 16 11 4 20 29 27 30 28
Jis B JI=A 407 20 22 9 22 92 40 48 38
] M 123 201 6 15 15 12 27 15 20 21
Gt = =8 72 3 1 2 8 14 12 6 4
* I 123 98 2 10 - 4 6 12 14 10
= % I=X 118 8 7 3 6 11 18 12 14
I 0 12N 86 2 2 - 19 18 3 5 5
& [i] =N 908 50 85 64 46 66 75 91 110
1% = |8 61 1 3 3 2 4 4 11 6
E 5 JI=A 117 5 8 7 6 15 7 16 15
HE 7N I8 168 8 11 11 7 11 13 26 20
X o7 128 92 7 6 2 7 4 8 8 5
= & 128 212 13 23 15 10 13 20 19 24
BOR OB K 163 4 12 12 10 18 12 16 14
h i} I8 286 8 17 5 13 31 35 47 33
(F548) #5H 48, 759 1,893 2,479 1, 169 3,628 9,048 6,868 6, 281 4, 647




40~ 4475 | 45~ 4975 | 50~547% | 55~ 59755 | 60 ~647% | 65~697% | 70~ 7455 | 75~797% | 80~845% | 85mE L. | 4R
=

49,618 58,493 51,601 48,059 46,622 49,594 54,465 42,354 32,849 37,759 11
37,285 48,953 44,995 43,054 42,740 46,064 51,385 39,763 29,979 30, 494 9
12,333 9,540 6,606 5,005 3,882 3,530 3,080 2,591 2,870 7,265 2
8,992 6,776 4,605 3,611 2,949 2,850 2,615 2,285 2,545 6,728 2
5,905 4,531 3,027 2,402 1,957 1,902 1,708 1,509 1,613 4,517 2
3,087 2,245 1,578 1,209 992 948 907 776 932 2,211 -
1,087 773 508 362 272 208 157 110 134 252 -
2,254 1,991 1,493 1,032 661 472 308 196 191 285 -
50 52 25 16 10 19 10 6 1 4 -

17 17 13 10 5 5 1 - 1 - -

8 13 5 9 3 4 2 4 - - -

32 42 19 8 12 4 1 2 - -

7 6 7 6 5 4 1 1 - - -

4 7 2 4 1 5 - 1 - 1 -

12 20 12 11 7 1 - - 1 - -

26 21 18 8 6 4 10 - 3 7 -

23 23 30 26 10 4 2 1 5 3 -

19 14 19 11 2 6 5 2 1 3 -
137 109 87 72 25 19 18 14 13 14 -
101 88 57 33 32 21 20 7 9 22 -
259 253 213 131 87 48 41 27 32 32 -
227 165 146 105 57 43 21 15 20 48 -
19 15 9 4 5 3 3 1 - 2 -

13 12 7 8 7 3 2 - 1 - -

32 25 22 9 5 6 3 - - 1 -

12 5 6 7 4 - - - - 2 -

15 13 11 13 6 4 8 3 - 2 -

48 36 29 18 14 15 5 5 6 6 -

76 69 27 28 13 19 6 6 4 8 -
546 451 326 210 134 89 68 57 55 82 -
72 49 38 35 16 12 7 6 2 1 -

20 26 20 14 2 3 2 - 2 4 -

23 29 14 10 7 8 4 2 5 5 -

82 97 78 57 40 22 7 5 9 10 -

61 59 43 29 15 14 15 4 3 4 -

20 9 11 13 3 5 2 4 2 5 -

8 8 6 - 5 4 1 - - 1 -

8 11 6 2 3 3 - 1 - - -

6 4 - 5 3 1 2 - - - -

11 11 12 8 6 3 6 2 2 - -

31 21 19 12 14 10 3 1 1 -

13 14 14 13 6 8 2 - - - -

3 4 1 3 5 4 - 2 - - -

9 3 7 3 9 6 1 1 - -

9 14 5 5 5 - - 1 - - -

2 9 6 5 3 6 1 - - -

89 87 57 26 21 10 9 7 -

5 7 5 2 2 3 1 2 - -

7 7 4 4 8 4 2 - 2 - -

15 12 8 12 10 2 1 - - -

11 4 6 7 9 3 4 1 - - -

22 17 10 8 6 5 4 2 1 - -

13 11 9 6 9 5 5 1 3 3 -

31 22 24 6 4 5 2 2 - 1 -
3,341 2,764 2,001 1,394 933 680 465 306 325 537 -




FosF Fir, Fiw (5K . B EHBIALD - (5FRIOEE]) (HDoX)
5 e ” K 0~4%% | 5~95% [10~14%%]15~19%%|20~24%% | 25~295% | 30 ~347% | 35~39%%
3
SRR D 369,952 15,074 17,250 18,112 18,670 16,696 16,119 19,615 22,558
BOFE AT 293,552 11,019 11,465 15,306 14,991 9,794 8,498 9,987 13,831
BEbH (EW) 76, 400 4, 055 5,785 2, 806 3,679 6, 902 7,621 9, 628 8,727
B T ETA P~ 49,511 3, 082 4, 507 2,198 1, 646 2,011 3, 851 6, 299 6, 186
H K N~ 31,479 2,039 3,094 1, 800 1, 204 1,169 2,070 3,481 3, 687
BN~ 18, 032 1,043 1,413 398 442 842 1, 781 2,818 2, 499
IR Pt T T A~ 7,338 333 434 155 361 786 1, 130 1,125 871
fl B~ 19, 551 640 844 453 1,672 4,105 2,640 2,204 1,670
e i 1E 420 12 16 4 32 89 48 43 51
H # I=X 126 4 7 6 4 9 14 18 16
Fe) F =8 67 4 2 - 3 6 8 5 4
= 1 J128 234 6 12 5 18 41 22 20 25
FK FH 123 59 4 2 - 6 10 5 3 4
] Z =8 55 3 3 2 5 19 2 4 3
& = I=8 112 3 5 4 9 20 9 15 8
/9 51 J128 260 7 15 6 18 46 37 37 24
i K JI=N 249 12 6 2 5 29 45 46 24
B 5 JI=N 150 5 5 7 9 32 14 15 13
pe * JI=N 994 28 46 39 63 154 124 109 111
T 1E =8 813 37 35 20 74 182 94 97 61
R i #h 2,810 49 88 52 225 816 424 364 188
&I R 1,914 49 73 35 151 419 338 222 154
H %5 I8 123 3 4 2 14 13 16 12 14
=1 ] 128 110 2 3 - 10 24 17 8 9
b JI 1=A 274 3 16 7 50 72 25 18 13
& H: =8 87 4 3 1 5 23 9 8 10
(L A4 |8 217 4 7 2 38 59 21 26 12
L& i JI=A 319 6 17 8 28 64 38 24 32
53 B 1=8 528 26 27 20 35 62 72 55 59
= i I 5,018 170 219 106 490 1,074 788 564 398
= & JI=A 451 24 14 12 21 60 54 51 53
% = =N 258 8 6 2 38 71 27 23 17
o S FF 453 13 14 4 79 199 29 33 32
x P ¥ 787 23 37 13 72 151 93 82 70
= Ji =8 437 23 19 11 39 72 59 51 33
%= B I8 134 6 9 3 18 18 8 17 13
fnoo#k b R 68 6 8 1 - 11 8 8 5
= B =8 70 5 5 - 4 13 9 6 4
= Uik |8 49 2 - 1 5 9 7 4 7
[i] i 15 134 9 9 3 13 15 13 16 19
Jis B JI=A 247 15 10 2 12 66 22 25 20
] M 123 123 4 9 7 8 19 7 12 11
Gt = =8 47 2 1 - 5 8 8 4 2
* I 123 56 1 5 - 3 5 6 5 8
= % I=X 68 6 3 1 1 7 12 7 7
I 0 12N 59 2 1 - 11 13 3 2 4
& [i] =N 506 29 38 33 23 45 44 52 62
e = JI=A 33 1 1 - - 2 2 6 4
s 753 =8 62 2 3 4 2 7 6 10 7
HE 7N I8 109 3 6 6 3 10 8 17 13
X o7 128 58 5 3 2 5 2 7 5 1
= i JI=N 124 5 13 10 3 9 12 13 14
B E R 102 1 9 6 8 12 8 12 8
h i} I8 177 4 10 4 7 18 18 30 23
(F548) #5H 26, 889 973 1,278 608 2,033 4,891 3,770 3,329 2,541




40~ 4475 | 45~ 4975 | 50~547% | 55~ 59755 | 60 ~647% | 65~697% | 70~ 7455 | 75~797% | 80~845% [ 85mE Ll | 4R
=

25,258 29,643 26,206 24,403 23,371 24,543 26,238 19,443 14,255 12,492 6
18,728 24,429 22,646 21,762 21,268 22,627 24,702 18,377 13,294 10,823 5
6,530 5,214 3,560 2,641 2,103 1,916 1,536 1,066 961 1,669 1
4,576 3,503 2,261 1,723 1,522 1,521 1,289 932 869 1,534 1
2,949 2,304 1,512 1,139 1,018 1,017 840 625 540 990 1
1,627 1,199 749 584 504 504 449 307 329 544 -
625 486 307 219 161 119 85 48 34 59 -
1,329 1,225 992 699 420 276 162 86 58 76 -
31 33 17 12 9 13 4 5 - 1 -

10 14 10 9 3 2 - - - - -

7 10 2 8 3 3 1 1 - - -

20 30 16 5 10 2 - 2 - - -

4 4 5 4 4 3 - 1 - - -

2 4 2 3 - 2 - 1 - - -

10 10 7 9 2 1 - - - - -

19 14 13 7 4 2 8 - 1 2 -

13 15 20 18 8 2 1 1 1 1 -

11 10 13 8 1 4 1 1 - 1 -

90 71 62 49 16 10 10 1 4 7 -

53 49 39 23 18 9 10 3 2 7 -
146 123 126 84 56 28 15 11 6 9 -
131 9 92 70 30 27 11 7 2 7 -
11 14 8 4 3 2 1 1 - 1 -

8 10 5 6 4 2 2 - - - -

19 18 17 6 3 5 2 - - - -

8 3 4 6 2 - - - - 1 -

11 9 8 8 5 3 3 1 - - -

27 21 15 15 8 7 5 1 2 1 -

52 48 20 22 9 12 2 4 1 2 -
323 285 220 140 87 52 37 23 21 21 -
45 36 30 24 13 6 6 2 - - -

14 20 14 10 1 2 1 - 2 2 -

11 13 9 4 3 4 1 1 3 1 -

47 53 52 41 28 14 2 1 5 3 -

32 32 25 15 8 6 8 2 2 - -

10 6 6 8 3 2 2 2 - 3 -

1 7 4 - 4 3 1 - - 1 -

6 9 3 1 1 3 - 1 - - -

3 3 - 4 2 - 2 - - - -

7 8 9 2 4 1 3 2 - -

21 13 15 8 8 7 2 1 - - -

8 10 9 9 3 5 2 - - - -

2 4 1 3 3 3 - 1 - - -

7 - 6 2 3 3 1 - - -

5 9 4 2 4 - - - - - -

1 8 4 4 1 4 1 - - -

48 46 39 13 17 6 3 3 2 -

3 5 2 2 1 1 1 2 - -

1 5 2 3 6 2 1 - 1 - -

10 8 5 11 7 1 1 - - - -

6 3 4 5 5 2 3 - - - -

10 14 8 3 5 2 2 1 - - -

7 7 4 5 5 3 4 1 - -

18 15 16 4 - 5 2 2 - 1 -
1,954 1,711 1,299 918 581 395 247 134 92 135 -




FosF Fir, Fiw (5K . B EHBIALD - (5FRIOEE]) (HDoX)
5 e ” K 0~4%% | 5~95% [10~14%%]|15~197%|20~24%% | 25~295% | 30 ~347% | 35~39%%
%

SRR D 381,689 13,998 16,100 17,152 17,318 16,159 15,385 18,363 21,647
BOFE AT 304,779 10,204 10,739 14,387 14,092 9,600 7,492 8,805 13,400
BEbH (EW) 76,910 3, 794 5, 361 2,765 3, 226 6, 559 7,893 9, 558 8, 247

B T ETA P~ 55, 040 2,874 4, 160 2, 204 1,631 2, 402 4,795 6, 606 6, 141
H K N~ 35, 346 1,910 2,858 1,773 1, 206 1,297 2,522 3,807 3,835
BN~ 19, 694 964 1,302 431 425 1, 105 2,273 2,799 2, 306

IR Pt T T A~ 6, 463 354 382 143 212 658 1, 091 1,139 764

fl B~ 15, 407 566 819 418 1,383 3,499 2,007 1,813 1,342
e i 1E 204 15 16 4 9 29 22 23 18
H # I=X 63 6 4 6 3 10 4 3 6
Fe) F =8 37 4 6 - 1 3 2 5 3
= 1 J128 128 2 13 9 10 18 13 14 14
FK FH 123 28 - 3 2 2 1 2 5 1
] Z =8 32 1 4 2 2 3 1 5 3
& = I=8 52 2 5 2 - 3 6 7 2
/9 51 J128 149 9 13 3 8 25 12 26 20
i K JI=N 145 8 11 4 5 14 24 20 12
B 5 JI=N 115 7 6 3 9 14 19 13 12
pe * JI=N 743 33 47 30 38 140 95 92 80
T 1E =8 687 29 41 23 53 138 76 102 48
R i #h 2,702 66 87 53 258 890 389 264 176
&I R 1,633 54 62 37 145 419 222 191 129
H %5 128 74 5 8 3 7 12 9 7 7
=1 ] 128 55 1 3 1 6 9 6 6 7
b JI 1=A 130 5 9 4 13 27 10 13 16
& H: =8 51 1 2 2 5 8 11 6 4
(L A4 |8 140 6 6 3 23 36 13 15 11
L& i JI=A 234 11 18 5 13 34 26 25 22
53 B 1=8 423 16 28 12 45 75 51 67 45
= i I 4,142 148 195 81 386 968 647 529 379
= & JI=A 297 12 22 6 26 40 35 40 40
% = =N 144 3 10 3 17 29 25 17 13
o S FF 449 4 18 4 106 171 33 29 27
x P ¥ 647 22 40 20 63 146 68 66 61
= Ji =8 358 21 14 12 18 67 40 45 24
%= B I8 125 4 9 2 17 31 8 12 10
fnoo#k b R 44 4 4 4 2 2 5 7 4
= B =8 30 1 2 - 3 6 2 2 4
= Uik |8 36 2 1 4 2 10 6 4 -
[i] i 15 92 7 2 1 7 14 14 14 9
Jis B JI=A 160 5 12 7 10 26 18 23 18
] M 123 78 2 6 8 4 8 8 8 10
Gt = =8 25 1 - 2 3 6 4 2 2
* I 123 42 1 5 - 1 1 6 9 2
= % I=X 50 2 4 2 5 4 6 5 7
I 0 12N 27 - 1 - 8 5 - 3 1
& [i] =N 402 21 47 31 23 21 31 39 48
1% = 128 28 - 2 3 2 2 2 5 2
s 753 =8 55 3 5 3 4 8 1 6 8
HE 7N I8 59 5 5 5 4 1 5 9 7
X o7 128 34 2 3 - 2 2 1 3 4
= i JI=N 88 8 10 5 7 4 8 6 10
B E R 61 3 3 6 2 6 4 4 6
h i} I8 109 4 7 1 6 13 17 17 10

(F548) #5H 21, 870 920 1, 201 561 1,595 4,157 3, 098 2,952 2,106




40~ 4475 | 45~ 4975 | 50~547% | 55~ 59755 | 60 ~647% | 65~697% | 70~ 7455 | 75~795% | 80~845% | 85mELL | 4R
=

24,360 28,850 25,395 23,656 23,251 25,051 28,227 22,911 18,594 25,267 5
18,557 24,524 22,349 21,292 21,472 23,437 26,683 21,386 16,685 19,671 4
5,803 4,326 3,046 2,364 1,779 1,614 1,544 1,525 1,909 5,596 1
4,416 3,273 2,344 1,888 1,427 1,329 1,326 1,353 1,676 5,194 1
2,956 2,227 1,515 1,263 939 885 868 884 1,073 3,527 1
1,460 1,046 829 625 488 444 458 469 603 1,667 -
462 287 201 143 111 89 72 62 100 193 -
925 766 501 333 241 196 146 110 133 209 -
19 19 8 4 1 6 6 1 1 3 -

7 3 3 1 2 3 1 - 1 - -

1 3 3 1 - 1 1 3 - - -

12 12 3 3 2 2 1 - - -

3 2 2 2 1 1 1 - - - -

2 3 - 1 1 3 - - - 1 -

2 10 5 2 5 - - - 1 - -

7 7 5 1 2 2 2 - 2 5 -

10 8 10 8 2 2 1 - 4 2 -

8 4 6 3 1 2 4 1 1 2 -

47 38 25 23 9 9 8 13 9 7 -

48 39 18 10 14 12 10 4 7 15 -
113 130 87 47 31 20 26 16 26 23 -
96 69 54 35 27 16 10 8 18 41 -

8 1 1 - 2 1 2 - - 1 -

5 2 2 2 3 1 - - 1 - -

13 7 5 3 2 1 1 - - 1 -

4 2 2 1 2 - - - - 1 -

4 4 3 5 1 1 5 2 - 2 -

21 15 14 3 6 8 - 4 4 5 -

24 21 7 6 4 7 4 2 3 6 -
223 166 106 70 47 37 31 34 34 61 -
27 13 8 11 3 6 1 4 2 1 -

6 6 6 4 1 1 1 - - 2 -

12 16 5 6 4 4 3 1 2 4 -

35 44 26 16 12 8 5 4 4 7 -

29 27 18 14 7 8 7 2 1 4 -

10 3 5 5 - 3 - 2 2 2 -

7 1 2 - 1 1 - - - - -

2 2 3 1 2 - - - - - -

3 1 - 1 1 1 - - - - -

4 3 3 6 2 2 3 - 1 - -

10 8 4 4 6 3 1 - 1 -

5 4 5 4 3 3 - - - - -

1 - - - 2 1 - 1 - - -

2 3 1 1 6 3 - 1 - - -

4 5 1 3 1 - - 1 - - -

1 1 2 1 2 2 - - - -

41 41 18 13 4 4 6 4 5 -

2 2 3 - 1 2 - - - -

6 2 2 1 2 2 1 - 1 - -

5 4 3 1 3 1 - - - -

5 1 2 2 4 1 1 1 - - -

12 3 2 5 1 3 2 1 1 -

6 4 5 1 4 2 1 - 1 -

13 7 8 2 4 - - - - -
1,387 1,053 702 476 352 285 218 172 233 402 -




